
SAP ABAP table WISO_COND {SAP Retail Store: Sales Order Condition Data}

WISO_COND

COND_ST_NO [NUMC (3)]

COND_TYPE [CHAR (4)]

CURRENCY [CUKY (5)]

COND_UNIT [UNIT (3)]

CD_UNT_ISO [CHAR (3)]

REFOBJTYPE [CHAR (10)]

REFLOGSYS [CHAR (10)]

APPLICATIO [CHAR (2)]

ACCESS_SEQ [NUMC (2)]

CURRENCY_2 [CUKY (5)]

UNITMEASUR [UNIT (3)]

ISO_UNIT [CHAR (3)]

CURRENCKEY [CUKY (5)]

TAX_CODE [CHAR (2)]

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 WISO_COND-COND_UNIT = T006-MSEHI 

0..N

0..N

 WISO_COND-UNITMEASUR = T006-MSEHI 0..N

0..N

T006I

CLIENT [CLNT (3)]

ISOCODE [CHAR (3)]

 WISO_COND-CD_UNT_ISO = T006I-ISOCODE 
0..N

0..N

 WISO_COND-ISO_UNIT = T006I-ISOCODE 0..N

0..N

T007A

MANDT [CLNT (3)]

KALSM [CHAR (6)]

MWSKZ [CHAR (2)]

 WISO_COND-TAX_CODE = T007A-MWSKZ 
0..N

0..N

T681A

KAPPL [CHAR (2)] WISO_COND-APPLICATIO = T681A-KAPPL 0..N

0..N

T682I

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KOZGF [CHAR (4)]

KOLNR [NUMC (2)]

 WISO_COND-ACCESS_SEQ = T682I-KOLNR 0..N

0..N

T683S

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

STUNR [NUMC (3)]

ZAEHK [NUMC (2)]

 WISO_COND-COND_ST_NO = T683S-STUNR 

0..N

0..N

T685

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

 WISO_COND-COND_TYPE = T685-KSCHL 

0..N

0..N

TBDLS

LOGSYS [CHAR (10)]

 WISO_COND-REFLOGSYS = TBDLS-LOGSYS 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 WISO_COND-CURRENCKEY = TCURC-WAERS 

0..N

0..N

 WISO_COND-CURRENCY = TCURC-WAERS 

0..N

0..N

 WISO_COND-CURRENCY_2 = TCURC-WAERS 

0..N

0..N

TOJTB

NAME [CHAR (10)]

 WISO_COND-REFOBJTYPE = TOJTB-NAME 

0..N

0..N


